
)5,����-81�������67$57�7,0(������

75$3�0(1�-81,25
5(68/76
0('$/�0$7&+(6

�QG�&RPSHWLWLRQ�6WDJH���0HGDO�0DWFKHV

5HPDUNV7RWDO7DUJHWV1DW1DPH%LE
1R5N

��325'$�6,/9$�7(,;(,5$
)LOLSH�$QGUH

�����

�,7$0,2772
/XFD

�����

��&=(9$1(.
3DYHO

�����

�69.6/$0.$
0LFKDO

�����

�VW�&RPSHWLWLRQ�6WDJH���6HPLILQDO

5HPDUNV7RWDO7DUJHWV1DW1DPH%LE
1R5N

4*��325'$�6,/9$�7(,;(,5$
)LOLSH�$QGUH

����

�6�RII�����4*��,7$0,2772
/XFD

����

�6�RII�����4%��69.6/$0.$
0LFKDO

����

�6�RII�����4%��&=(9$1(.
3DYHO

����

�6�RII�����(63%$548(52
'DYLG

�����

�&=(1$95$7,/
-RVHI

�����

/HJHQG ��)��(�)
%LE�1R %LE�1XPEHU 1DW 1DWLRQ 4% 4XDOLILHG�IRU�%URQ]H�0HGDO

0DWFK
4) 4XDOLILHG�IRU�)LQDOV 4* 4XDOLILHG�IRU�*ROG�0HGDO

0DWFK
5N 5DQN

6�RII 6KRRW�RII

+LVWRU\
5HOHDVH��$SSURYHG�9HUVLRQ������������������������
5HOHDVH��3UHOLPLQDU\�9HUVLRQ������������������������

�.������,$��������������75����������SGI9HUVLRQ�RI����-81������������ 3DJH���RI������



:('����-81�������67$57�7,0(������

75$3�0(1�-81,25
,17(50(',$7(�5(68/76
48$/,),&$7,21

�5HFRUGV�
:5- ���0$<����� $WODQWD��86$���� $/08'+$)�.KDOHG .8: :&

�5HFRUGV�7HDP�
:5- ��$8*����� %HOJUDGH��65%���� *5$=,1,�9DOHULR��0$1&$5(//$�&DUOR��),25$9$17,�*LXOLR� ,7$ (&+

4XDOLILFDWLRQ

7RWDO
%LE�1R 1DPH 1DW

5RXQGV
5HPDUNV5DQN

46�RII� � � � �
� (63%$548(52�'DYLG���� ���� �� �� ��
� 69.6/$0.$�0LFKDO���� ���� �� �� ��
� ,7$0,2772�/XFD���� ���� �� �� ��
� 325'$�6,/9$�7(,;(,5$�)LOLSH�$QGUH���� ���� �� �� ��
� &%���&=(9$1(.�3DYHO���� ���� �� �� ��
� &%���69.'52%1<�$GULDQ���� ���� �� �� ��
� (63*250$=�$OYDUR���� ���� �� �� ��
� &%���785%$/.$1&,�$KPHW���� ���� �� �� ��
� &%���,5/2�68//,9$1�,DQ���� ���� �� �� ��
�� &=(1$95$7,/�-RVHI���� ���� �� �� ��
�� )5$2%/(7�'RULDQ���� ���� �� �� ��
�� *%5752:(//�*UHJ���� ���� �� �� ��
�� )5$0$6�%UXQR���� ���� �� �� ��
�� 586(*2529�1LNLWD���� ���� �� �� ��
�� )5$/$&52,;�-HDQ�%DSWLVWH���� ���� �� �� ��
�� &%���65%60,/-$1,&�1HPDQMD���� ���� �� �� ��
�� &%���65%(*(/-$�0DNVLP���� ���� �� �� ��
�� 69.0$5,129�)LOLS���� ���� �� �� ��
�� ,7$3$77$5(//2�$QGUHD���� ���� �� �� ��
�� *%5:,/.,1621�-DFN�'RXJODV�/HVOLH���� ���� �� �� ��
�� 65%9$6,/-(9,&�%RUNR���� ���� �� �� ��
�� *%5%($1�&RQRU���� ���� �� �� ��
�� 5869(5(7,1�9LNWRU���� ���� �� �� ��
�� &=(67(3$1�9ODGLPLU���� ���� �� �� ��
�� %8/.,5,/29�0DULQ���� ���� �� �� ��
�� *(5)$8/67,&+�/XFD���� ���� �� �� ��
�� 6/2*(&�.ULVWLDQ���� ���� �� �� ��
�� ,7$9$/(5,�'LHJR���� ���� �� �� ��
�� +81*$=',*�9HQGHO�2H]VHE���� ���� �� �� ��
�� 125/$56(1�0DUWLQ���� ���� �� �� ��
�� *(56(,'(/�3KLOLSS���� ���� �� �� ��
�� *(5+(50(6�3KLOLSS���� ���� �� �� ��

�4�����$,,��������������75����������SGI9HUVLRQ�RI����-81������������ 3DJH���RI��



4XDOLILFDWLRQ

7RWDO
%LE�1R 1DPH 1DW

5RXQGV
5HPDUNV5DQN

46�RII� � � � �
�� +81)8(/2(3�=VROW���� ���� �� �� ��
�� $=(+86(<,1/,�$OL���� ���� �� �� ��
�� +8102/'29$1�0DUFHOO���� ���� �� �� ��
�� 785&$9/,�+DVDQ���� ���� �� �� ��
�� 785$5$%$&,�$KPHW�7XUJXW���� ���� �� �� ��
�� $=(*8/,<(9�$OLPLU]D���� ���� �� �� ��
�� %8/*(25*,(9�,YDQ���� ���� �� �� ��
�� 6/2.26�67850�7LOHQ���� ���� �� �� ��
�� 52862$5(�(XJHQ�$OH[DQGUX���� ���� �� �� ��

6XPPDU\
1XPEHU�RI�DWKOHWHV�RQ�WKLV�OLVW������7RWDO�QXPEHU�RI�DWKOHWHV������7RWDO�QXPEHU�RI�WHDPV���

3OHDVH�QRWH�WKDW�WKHUH�DUH�UHFRUGV�HTXDOO\�DFKLHYHG�E\�VHYHUDO�DWKOHWHV�DQG�RQO\�WKH�ILUVW�WR�VHW�WKH�UHFRUG�LV�VKRZQ�
1RWH

5HIHU�WR�WKH�5HFRUGV�OLVW�RQ�,66)�ZHEVLWH��ZZZ�LVVI�VSRUWV�RUJ

/HJHQG &��%��(�
BBB 7HDP�0HPEHU %LE�1R %LE�1XPEHU &%�;;; &RXQW�%DFN�±�0LVVHG�WDUJHW
(&+ (XURSHDQ�&KDPSLRQVKLSV 1DW 1DWLRQ 46�RII 4XDOLILFDWLRQ�6KRRW�RII
:& :RUOG�&XS :5- :RUOG�5HFRUG�-XQLRU :5- :RUOG�5HFRUG�-XQLRU5HFRUG

�4�����$,,��������������75����������SGI9HUVLRQ�RI����-81������������ 3DJH���RI����
��



:('����-81�������67$57�7,0(������

75$3�0(1�-81,25
5(68/76
7($0

�5HFRUGV�
:5- ���0$<����� $WODQWD��86$���� $/08'+$)�.KDOHG .8: :&

�5HFRUGV�7HDP�
:5- ��$8*����� %HOJUDGH��65%���� *5$=,1,�9DOHULR��0$1&$5(//$�&DUOR��),25$9$17,�*LXOLR� ,7$ (&+

7RWDO%LE�1R 1DPH
5RXQGV

5HPDUNV5DQN
� � � � �

���� &=(���&]HFK�5HSXEOLF �� �� �� �� ��

���1$95$7,/�-RVHI���� �� �� �� �� ��
���9$1(.�3DYHO���� �� �� �� �� ��
���67(3$1�9ODGLPLU���� �� �� �� �� ��

���� 69.���6ORYDNLD �� �� �� �� ��

���6/$0.$�0LFKDO���� �� �� �� �� ��
���'52%1<�$GULDQ���� �� �� �� �� ��
���0$5,129�)LOLS���� �� �� �� �� ��

���� ,7$���,WDO\ �� �� �� �� ��

���0,2772�/XFD���� �� �� �� �� ��
���3$77$5(//2�$QGUHD���� �� �� �� �� ��
���9$/(5,�'LHJR���� �� �� �� �� ��

���� *%5���*UHDW�%ULWDLQ �� �� �� �� ��

���752:(//�*UHJ���� �� �� �� �� ��
���:,/.,1621�-DFN�'RXJODV�/HVOLH���� �� �� �� �� ��
���%($1�&RQRU���� �� �� �� �� ��

���� 65%���6HUELD �� �� �� �� ��

���9$6,/-(9,&�%RUNR���� �� �� �� �� ��
���60,/-$1,&�1HPDQMD���� �� �� �� �� ��
���(*(/-$�0DNVLP���� �� �� �� �� ��

���� )5$���)UDQFH �� �� �� �� ��

���0$6�%UXQR���� �� �� �� �� ��
���/$&52,;�-HDQ�%DSWLVWH���� �� �� �� �� ��
���2%/(7�'RULDQ���� �� �� �� �� ��

�4������7$��������������75����������SGI9HUVLRQ�RI����-81������������ 3DJH���RI��



7RWDO%LE�1R 1DPH
5RXQGV

5HPDUNV5DQN
� � � � �

���� *(5���*HUPDQ\ �� �� �� �� ��

���6(,'(/�3KLOLSS���� �� �� �� �� ��
���)$8/67,&+�/XFD���� �� �� �� �� ��
���+(50(6�3KLOLSS���� �� �� �� �� ��

���� 785���7XUNH\ �� �� �� �� ��

���%$/.$1&,�$KPHW���� �� �� �� �� ��
���&$9/,�+DVDQ���� �� �� �� �� ��
���$5$%$&,�$KPHW�7XUJXW���� �� �� �� �� ��

���� +81���+XQJDU\ �� �� �� �� ��

���*$=',*�9HQGHO�2H]VHE���� �� �� �� �� ��
���)8(/2(3�=VROW���� �� �� �� �� ��
���02/'29$1�0DUFHOO���� �� �� �� �� ��

6XPPDU\
1XPEHU�RI�DWKOHWHV�RQ�WKLV�OLVW������7RWDO�QXPEHU�RI�DWKOHWHV������7RWDO�QXPEHU�RI�WHDPV���

/HJHQG '�%���$�
%LE�1R %LE�1XPEHU (&+ (XURSHDQ�&KDPSLRQVKLSV :& :RUOG�&XS
:5- :RUOG�5HFRUG�-XQLRU :5- :RUOG�5HFRUG�-XQLRU5HFRUG

+LVWRU\
5HOHDVH��$SSURYHG�9HUVLRQ������������������������
5HOHDVH��3UHOLPLQDU\�9HUVLRQ������������������������

�4������7$��������������75����������SGI9HUVLRQ�RI����-81������������ 3DJH���RI����
��


